EAGRAROBREERT — 2 N— ABISH —F 2020518208 (B) 18m55#1H

mﬂﬁ%c 284 %M (xwlw | mEmml - |5 6) o 8
[AE£] 1 7&:240,000 W  23%&:56,000”  33%&:24,000M”  43%&:17,000H . 5 7#&:12,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s S pe S AR :29. -1-1- . - HIEER (1)
il [ pyvTons— B4 i 1(2_9)5 1-1-1-1 | 40.0 7 (4_819) als A
Libh—troa—4> BHAIIY1—FZ k5
BURR EHEE .09, o o . — FRILEHE (5548)
2155 IR AVE: & = 4 4 B 1(/%5;)5 5-6-6-6 | 39.0 5 ig;t Ei%i% A
L:xoin10— B:xUKRy b BEE &
o4 | EEES 1:29.6 6-5-4-4 |39.5| — | 1 | 398 |JIMSELE (SEH
3 4| F¥a2—hr77HLZX 54.0 (3/4) ) () A4S
R:27)—re—A—- B:NZ—-d—-F> g
o= B4 | WTHZ 1:30.5 4-4-5-5 | 40.4| — 4 505 | JIIUSBAE (56H4)
4 3| Yaz 1A 54.0 (4) o) | (B) BiEHeS
R:tr/o7Ooq4 B:Xbk—U—-FUry BtEdis
= . s 4 | [EILAK 1:31.0 2-2-2-2 |41.2| — 2 493 | HEEES (%13)
5 2| =V /Iy U3 54.0 21/2) ) | Bl
ANZZATNG BZV/ELY AR HE ki
. . . 7t FB At :31. —8-7- . — FEARB— (5H3)
6lalg|v>*ETH—F it 4 L 1(7315? 8-8-7-7 | 39.7 6 :?2) e A
L:h—t>ya—4r B17U—2% H 405
2 it 4 | BIKKIE 1:31.3 3-3-3-3 |41.5| — 3 454 | BB (551R)
717217\ 7—=7747 *50.0 (1 1/2) o |8 K1 ZUNAME
R:PRUIYZXIZX B:OQv I T4—T4 R A2
=S ko . 4 5 | KERER 1:33.4 7-7-8-8 |41.8| — 8 450 | BEEIER (81)
8 6|77 hyTOT> 54.0 (44 4) 2 | (B PN
LA bhk—b Biky bTpyiar TREHS
® I —F—@EBIERL
13=7r= 1,2,7,3,5,4,6,8
20—J— 1,2,7,3,4,5,6,8
30—7+— 1,2,7,4,3,5,8,6
A==k — 1,2,7,4,3,5,8,6
[ RN
B OB 1 8,580 714K 1-5 3,860 B = 1-5 27,230 3ER 1-4-5 9,010
7 B 1 910M 1-4 1,730 | | B B 1-5 61,430/ | | 3&& 1-5-4 176,190
5 210H 4-5 330
4 110

ARICOVWTRDTEEERROODE. TR LI,



